CD89 PE IT (IgG1, A3)

=
i
E—f NE
5 3
W
=1
= X=
o 3
e g
ﬂ:
23
= :n' I Ty
10 0 10 10
% PE
=
S
= LY
wnz
£
2
=
[nd}
= —rrrrT—T—rrrrm
10° 107 107
¥ PE
o
]
o] MO
™
v s J
=R
Z 5 ]
UE_.
o 3
=
107 0 107 107 107
% PE
w EO
ﬂt:.i
=
z
L]
o
D LI L L] IIIIIIIII L L L LR
107 0 10° 107 107
¥ PE
o] BA
Prpr— rpep—
107 107 107
% PE

- - -
LT Wt
. s =

045 PERCP
107 ml;IJ 1&3 10° o
1

10 10

T rrrm
10 10 10
XPE

045 PERCP
107 1u? 155 LR
1

0 10

10 1

10

LENLELELILLRL) |
10% 10
% PE

3 4

045 PERCP
107 ml;IJ 1&3 10° o
1

10 10

reer e -
10° 10 10

XPE

10

045 PERCP
107 1u? 155 LR
1

n 1

10

LENLELELILLRL) |
10% 10
% PE

3 10

4

045 PERCE
107 ml;IJ 1&3 ¥ qpd
1

sk it

10 10

T T rrrm
10 10 10

XPE

Page 2



FSC-Height
0 200 400 GO0 S00 1000
11 1

NE

10

n

0

LENLELELILALL) |
0%
¥ PE

1

10

107

FSC-Height
0 200 400 600 200 1000
11 1

LY

LA ENLELELILELY | LELELILILLLY | LA ELELELILELY | rrrrrrm
100 Tk 107 ik 10
% PE
=
=)
=
=g MO
L
52 ]
o] '
=
in T
""n:h:
=
=F
= T T e
10 0 0 10 10
¥ PE

FSC-Height
0 200 400 GO0 200 1000
11 1

EO

LA ENLELELILELY | LELELILILLLY | LEELELELILILAL | rrrrrTm
100 Tk 107 10° 10
% PE
=
=)
=1
5 ] BA
L
52 3
T e
A St
R SRR
""n:h:
=
=F
= T T e
10 0 0 10 10
¥ PE

S5C-Height
0 200 400 GO0 S00 1000
il 1

10" ik };th 107 10
=
= ]
=
[ N
52 ]
o
=
o T
LEP.
=1
S T T T
10 10 }{n:Fl‘E 10 10
=
=)
=3
= ]
=
-
52 3
o
=
o]
l'.l'.lg_: '.'Q..'-J‘:- .
Lot Iy [
R O B A I A
10 10 }{“:Fl‘E 10 10
=
=
2 3
J—'m-
52 ]
o
=
o T
LEP.
=1
S T T
10 10 }{n:Fl‘E 10 10
=
=)
=3
= ]
=
@]
53
o
=
o]
mn:h:
S e
Rl TRl I
R O B A I A
10 10 }{“:Fl‘E 10 10

Page 3



